DIvISION WITH A REMAINDER II (H - SET 2)

DIVISION WITH 1 TO 10 Name:
Time: Score: y—
15132014 + 9 = 166) 39 +2 =
152) 33852 + 8 = 1067 8221 +1 =
153) 19372 + 5 = ) 2302 +1 =
154 17055 + 2 = 169 28507 + 4 =
1) 611 +5 = 170) 38239 + 4 =
156 15606 + 4 = 1) 4894 + 4 =
157 22483 + 10 = 172) 13799 + 3 =
158 31835 + 5 = 173 48281 + 10 =
159) 38638 = & = 1) 10565 =7 =
160) 1564 =+ 2 = 175) 2063 -4 =
1) 22792 + 10 = 176 80817 + 9 =
162) 17463 + 7 = 17716499 = 4 =
163) 12248 + 3 = 7). 73751 + 10 =
164) 46747 + 8 = 1) 2208 +1 =
165 64205 =— & = 180) 14340 - 3 =
Mathematics: Division - Level § - Horizontal - Set 2 7 culu
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